-3<x<3¥m 2,/(x-3)2- /4(x +3)2 & ItFs| oFH?

@—4x @ -2x-6 @0
@ 6x ® 6x+6

~&B

—6<x-3<0,0<x+3<60]22
(FolH A) = —2(x—3) - 2(x + 3)
=-2x+6-2x-6
= —4x
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3. a=6-+5b=1+2V5d 0, o}& F L A7

D a+b<0 @ a-b>0 @a—4<0

@ b-4<0 ® 2a+b>15

B

Da+b=6-V5+1+2V5=7+ V5>0
@a-b=6-V5-1-2V5=5-3vV5<0
@b-4=1+2V5-4=2vV5-3>0
®2a+b=12-2V5+1+2V5=13 < V15
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V6 o Vi2 2
=V2-5+3V2-4
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a=-9,b=14
- ab = —-36
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ASZ2HEA V327 = 1.808 , V32.7 = 5.718 & T, T}& & 27
F O kel

O 327 = 18.08 @ V0.0327 = 0.01808
® +0.327 = 0.5718 @ 3270 =57.18

® /32700 = 180.8

‘ 1 1
@ 4/ T 4 3.27 = 0 V3.27 = 0.1808
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2(x+1)(x-5) 7} H313, AGol= ALFS AR B Zof

(2x+5)(x = 3) o] = Aot

S £ 24+ Ax+ B E 24 Q4 Bajist AL?
@(2x—5)(x—|—2) @ 2(x—|—1)2

® (x-2)(x+2) @ (x-2)(x+3)

® (2x—4)(x+5)

2(x+1) (x-5) oA F+F -10=
= (2x+5)(x - 3) oA x & A% -
2x? = x—10 = (2x - 5)(x + 2) °|t}.
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=
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=

ﬂ Hxa,
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© $214 9 o ABRE +3 0= faldolna §7) it
@ 7}, Az Qol7t 247 V3, VIZ Q) F2j4:q 412k o)
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11.

VBT +x =45 & o, FF x 22

@ 32 @23 ® 11

@ 9

45 = 80
V80 = V57 + x0|B& x = 230]t},




b#0% w25 )2t & o, o5 5 7] &2 A0
1

D 1%1=- +2‘/§ @ 2x1=2+13
3+2v3 5+ 33
T+4

7o +4+v3

2
1
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13. oh AFTES ol85ko] V200 9 k& FohE?

T 0 1 2 3 4

3.0 | 1,732 | 1,735 | 1.738 | 1.741 | 1,744
4.0 12,000(2,002|2,005]|2,007]| 2,010
5.0 12.230]2.238 | 2.241 | 2,243 | 2.245

® 44.72 @ 34.64 ® 34.70 @ 34.76 @44.76

B

V2004 = V4 x 501= 2 V501
=2x V5.01 x 100
=20+5.01

ZFolZ FoA 5.01 = 2.238

- 20 X 2.238 = 44.76




Vi=a-10°]2, -1 <a<39 M, Vx+da+ Vx—4a + 8= 73]
SHH?

@ 1 @ 2 @3 @ ® 5

B

Vi=a-129 FHAE AFNA x = (a—1)?
Va2 +2a+1+ Va?2 —6a+9

= V{a+17+ /(a-3)

=la+ 1|+ |a - 3|

—a+1-a+3=4




15.

xy=3,x2+y2=6 4o, ¥+ J A7 (F, x+y>0)

®2v8 @43 @)V @ sv3

® 10V3

B

(x4+y)2=x24+y2+2xy=6+2x3=12
x+y>00|E2 x4+y=2+3

(> +y?)(x+y) =2+ +xy(x+y)
6x2V3=x>+y3+3x2V3

x*+y* =63




